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PART -1
Choose the correct answer: 14><_1= 14
) na— became the First European Power to establish trade with India.
a) Portuguese b) French c) Danes d) Dutch
2) Why was Manchester considered ideal for textile production?
a) availability of land b) rich human resources
c) better living condition d) cool climate
3) Krishnadeve Raya was a contemporary of ...........
a) Babur b) Humayun c) Akbar d) Shershah
4) Tri-ratnas are the three principles taught by ........... _
a) Buddha b) Mahavira c) Lao - tze d) confucius
5) 'Drop, cover Hold' is a mock drill a vowal for
a) Fire b) Earthquake c) Tsunami d) Riot
6) The 'World Population Day' is observed on ............ every year.
a) August 11th b) September 11th c) July 11th d) January 11th
7) Which of the following is correctly matched?
a) Gulf Stream - Pacific Ocean
b) Labrador current - North atlantic Ocean
c) Canary Current - Mediterranean sea
-d) Mozambique current - Indian Ocean
8) Stacks are formed by ..........
a) Wave erosion b) River erosion c) Glacial erosion  d) Wind deposion
L — act as the inspector of village panchayat.
a) Commissioner b) District Collector c¢) Councellors d) Mayor

10) A 10 year old boy is working in a shop. Which right can you use to recover him?
a) Right to equality '
b) Right to freedom
c) Right against child labour exploitation
d) Right to freedom of Religion
11) The first general elections after independence in India were held in

a) 1948 - 49 b) 1951 -52 c) 1957-58 d) 1947-48
12) cocnesine has recorded the maximum number of emigrants.

a) Ramnad b) Coimbatore ¢) Chennai d) vellore
13) The Head Quarters of the RBI is at .......... (Chennai/Mumbai)

14) Assertion (A): Development increases the quality of life.
Reason (R): People will have higher incomes, better education, better
health and nutrition, less poverty
a) Both (A) and (R) are true and (R) explains (A)
b) Both (A) and (R) are true and (R) does not explain (A)
c) (A)is correct and (R) is false
d) (A) is false and (R) is true
= - - PART - II
ive short answers (Answer any ten only): =
Note : Question No. 28 is compulsory v 12=20
15) Colonel Pennycuick ,
16) Attempt a note on Hay market Massacre?
ig :i\'rite a short note on the impact of Renaissance.
ow important are coins as a sources of eviden '
19) What are the components of remote sensing('.:?e R Cangpel Ager
20) What is black death?
21) What does the term biodiversity mean?
22) N!ention the Layers of the interior of the Earth?
23) List out any three road safety rules.
24) Define POCSQyww freetnbooks.com | FREETNBOOKS



25) What
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i« a pressure group?
pap formigratlon?

easons
26) Enlistthe red % 1 toreign exchange?

27) Whatis meant b
28) What are

3
sectors of an economy )
the three - e i

ten only]:
nswr in detail [Answer any
:lote : Question No. 42 is compulsory
29) Match the following: — rad
a) Papyrus -
b) Mercantilism - Court offAkrI;a;;
¢) Quadricycle - A kindlo g
- First Tirthankara

30)

31)
32)
33)
34)

35)

d) Tansen _ it '
e) Rishabha - Louis Renau sangam Age contribute to
Indicate how the industries and crafts of the ang

their economy? e _
'Chola period was a enterprising period in the history ©

' v
Highlight the contribution of French p.hllosophers tont:e Re
Explain the major uses of GPS? Explain about any one:
Distinguish between the following:

a) Weather and Climate o
econdary activities.

b) Primary activities and s -
c¢) Fog is dangerous for traffic - Give Reason.

Explain the effects of Volcanoes?

f TamilNadu’ - Elucidate.
olution of 1789,

Fill in the blanks:

36)

37)
38)
39)
40)
41)
42)

8) v are also called Heterotrophs

b) .coovirnnn. is an extensive large ecosystem.
c) GPS consists of a constellation [+ — satellites.

d} asseen is called the eye of the storm/cyclone.

e) Many million years ago, India was a part of the super continent ..........
Explain the factors involved in road accident?

Discuss merits and demerits of direct elections?

Describe the major Problems and Challenges faced by the local self governments.
Give a note on the water resources of Tamil Nadu.

Explain how many is transacted in the digital world.

Mark on the map of South India.

a) Pandyas ruled Area b) Kanchi . ¢) chennai

d) Vanchi e) Madurai

PART -1V

Answer both questions: 2x8=16

43)

44)

What were the effects of Industrial Revolution of England on India?
(OR) |

a) Hammurabi code is an important Legal docume [

b) Impact of Crusades. .

Mark the following places in the world Map.

a) Indus valley civilisation e) Pacific Ocean

b) srilanka f) Vasco - do - gama sea

c) China g) India route

d) Italy ORS h) Cape of Good Hope

Mark the following places in the World Map.

a) Pacific ring of fire e) England

b) Himalaya Range f) Indian Oc

c) Any one Hot desert g) Japan ean

d) Any one delta h) A Karst region. (Newyork)
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